Efficiency vs Dxy(PV)
S 0.2
o
0.18
S
»0.16
>
20.14
5]
'50.12
g
® 0.

0.08

0.06

0.04
0.02

R

Ratio

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm

—=— DQM_V0001_R000000001__Global_CMSSW_org

—— DQM_V0001_R000000001__Global__CMSSW_pl08

—— DQM_V0001_R000000001__Global__CMSSW_pl075
[ Efficienc] —— DQM_v0001_R000000001__Global__CMSSW_pl07

0.8

0.7

0.6

0.5]

efficiency vs dxy(PV)

0.4

0.3]

0.2]

Ratio

9510.6-0.

Efficiency vs Dz(PV)
1.

SR T T
o L H N .
§ f : : :
o e R SRR [REEEE
s F . . .
> : :
9 L : :
S 0.8F e Lo
2 [ . .
b= r N N
@ - : :
0.6 = rwreeee TEEREE o BT LLTEE Lo
0.4f e eedennes Lo e
0.2+ reeeeees FRRTE | P S PR beeees

[ i i ; i i
o+ X
T
@

i

0¥ =20 =10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. 5 -
o L N
¥ :
4 1 .
> .
> .
Q .
© 0.8ttt
el [ : :
ko] I : :
(O ol I AR g g
o371 S SN 9 Seeeens H B I
SEN ot
: . % E=§¢%
9 1. % |
©
24
1k - SR
0T =05 5



	Contents
	Page 1


